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Example:
- find the ¢ EEUZ3 469,12, 20 | ominaby

0,10
34,612

12:1,2,3,4, ¢, 12
26:1,2,1%, 16

1,2,3,6,1, 1
.' 12177,"{ ,G,q,ll,l“,?)b




=S

=

J

y

) @

’
v

/

1/

f f
U

!

A
Vuw

f

R R R R R e e

/
) @

!
i ¥

' bireatest Comiman 2t 1-21-1

| Stimpliying Tiaciong
-+ FAind the GCF of Yhe namevaby g denominahv
- Divide tum. and den. by the GCF

W2 0325 0:1,2,5, 10

1B 2:1,2,3,4, .12

bk (227 . & 12:1,2,3,4, 6, 12

6:1 | 26:1,2,19, 26

bCR=1y M=, L 19:1,2,%,6,1, 19

| 328 2 3:1,2,% 4,6,4,12,15, 36
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